Priedas 1

PARAMA MOKYTOJUI

PARAMA PATEIKIANT UZDUOTIS (QUESTION 1-10)

Question 1. A.

Use the formula C' = 7 x d ,where d is the diameter.
d=14

22 o
and 7 = - asan approximation

22 22 x 14

SGC=?XI4= - =22x2=44

Circumference = 44 inches

Question 2. B.

Use the formula C' = 7 x d ,where d is the diameter.

d=21x2=423ndﬂ=2—:

Therefore ' = 2—: x 42 =132

Circumference = 132 em

Question 3. B.

Use the formula A = 7 x 7% ,where r is the radius.

d=14=>1‘“=?3ﬂdﬂ=?
ThercfurcA=?x72=2T—2x49=154

Area = 154 inches?
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Question 4. C.

Use the formula A = 7 x #* ,where r is the radius.

22
r=21and 7 = -

Therefore A = % x 21% = ET—E x 441 =1, 386

Question 5. C.
Use the formula: C=mnxd, where d is the diameter.
r=10 so d=20
R n=3.14 (approximately)
=10 fE o

So0C=3.14%x20=62.8

Circumference of the pond = 62.8 feet

Question 6. D.

Diameter=1.4m

SoRadius=%x14m=0.7m

Use the formula A = 1t x r? , Where r is the radius.
r=0.7

nu=(22/7) approximately

So A =(22/7)x0.7*=(22/7) x0.49 = 1.54

Area = 1.54 m?

Question 7. B.

Use the formula for circumference: C = it x diameter
We know the radius =21 m, so diameterd=2x21=42m

>C=nxd
= C=(22/7)x 42
=C=132

Circumference of the garden =132 m
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Question 8. A

The area of acircle is A= x r?

The area of a semicircle is half of that: A= % x tx r?

We know the diameter = 7 ft, so the Radius =% x 7 ft = 3.5 ft
SA=Vxmxr

= A=1x(22/7) x 3.5°

= A=%x(22/7) x12.25

= A=(11/7) x 12.25

= A=19.25

Area of carpet = 19.25 ft?

Question 9. B

The trick is to subtract the area of the inner circle from the area of the outer circle.

Use the formula for the area of a circle: A = it x r?, where r is the radius.
For the outer circle, r=3,so A=ntx3* = x9=9n

For the inner circle,r=2,so A=t x 2’ =i x 4 = 41t

So the area of the ring =9 — 4t = 5nt

Question 10. D

Use the formula for the area of a circle A = 7 x r° , where r is the radius.
For the top circle, r = 3s0: A=7x 3 =7 x9=97
For the bottom circle, r =5 s0: A =7 x 5% =7 x 25 = 25w

So the area of the logo = 97 + 267 = Jdxw
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